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Question Number : 1 Question Id : 513474841 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Central Research Institute for Dryland Agriculture (CRIDA) 1s located at
So8 D S50 éo:g o)) ¢ %Ema"{i}
Options :
Delh1
1.% 69

Hyderabad
) 7 Aletanay

Rajahmundry

3 % oreznol

Chennai

4, % O

Question Number : 2 Question Id : 513474842 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The atmosphere layer near to earth a}u‘face 15

gt S0 &5 Teddn edbndn Jb
Options :

Troposphere
1. & EFNanb

Stratosphere
2. % ELEW)ODO

Ionosphere

3 % BOHITYHE

Exosphere
4 % 95))0on6



Question Number : 3 Question Id : 513474843 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The substance used for reclamation of acidic soils

s JoH F0THEIE O TG Thed

Options:

Gypsum
1. % ﬁﬁjo

Lime stone
o5 ¥
3.¥

Single super phosphate

4 % Hoies aranb @“fbﬁé’ﬁ_

Question Number : 4 Question Id : 513474844 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
The high pressure areas formed at the polar regions due to the rotation of the earth is called as
Ir E9R0 IO §35 FoFe 5§ JO)E 008 S FoTed JHoird
Options:
Latitude
1. & BFOT

Doldrums

> % Gd (@

Longitude

BegroTen
3. %

Horse latitude

4 o0y erdergs

Question Number : 5 Question Id : 513474845 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Which of the following instrument 1s used to measure relative humidity
ol '&'i-llgém GNE S Vardd
Options :
Psychrometer

1 & 2 iFbb

Hair hygrometer

5  Towd T aosb

Anemometer

3 % VA6

Barometer

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks
for this question if any of the correct options are chosen.

Question Number : 6 Question Id : 513474846 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Example for soil erosion permitting crop
Jo S5 enHnGod JohHh STTon

Options:

Groundnut
| w doods

Green gram
2 ® e aTe]

Sorghum

3.¢ F

Cowpea

4 % D08

Question Number : 7 Question Id : 513474847 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Calculate the harvest index for maize crop if the straw yield 15 6 tones and green yield 1s 4
tonnes per hectare

i ok 6 oo Hodn IES ohalk TTHH 4 L m vwd TG T Dok’

amad 5rd% (harvest index) 5 08 0506

Options :

80%
1 v/ 3 {}D.-"zl.}

60%
2. v 60%

40%
Ao
5 v 40%
50%
4 v 50%

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks
for this question if any of the correct options are chosen.

Question Number : 8 Question Id : 513474848 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The mstrument used for scheduling of irrigation to crops
Dodd A8 S8 Rt SD@MPADE HOE0SD
Options :
LCC chart

| x 259538

Spadometer
5 % EDHEE

Lactometer
s ohé b
u &2

Tensiometer
DO @randd
'\.I‘/ o

Question Number : 9 Question Id : 513474849 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Growing of a suitable crop m place of normally sown highly profitable crop of the region due

to aberrant weather conditions 1s known as

Frdn TEH :)Digei:nm'i‘ Srdnm St B #irodd) éﬂ?géﬂm
ﬁﬁ)ﬁ'&&)é&é& Soirth Dohabs Sobe [er s DH0ErdH

Options :
Ratoon cropping
1. % F0) dobe Rerds

Contingency cropping
> & PEgIm i Sote Perds

Inter cropping
eosd Dobe DerdE
3. %

Mixed cropping

4 % 2D DoLe DETLE

Question Number : 10 Question Id
Correct Marks : 1 Wrong Marks : 0

: 513474850 Question Type : MCQ Option Shuffling : Yes

The imagiary lines drawn on the map connecting the points of equal rainfall are known as
I3 36 rd Foswn smdr i tpod Jotrd

Options :

Isohytes
1, v BT

Isobars
meﬁ“ar—ﬁ;,

Isophytes
o &)

Isoteches

neraE
4, ® )

Question Number : 11 Question Id
Correct Marks : 1 Wrong Marks : 0

: 513474851 Question Type : MCQ Option Shuffling : Yes



Conversion of water vapour directly into ice erystals 1s known as
N8 D0 Fhmr Dok HBseuT Eraroddo BoSE D) WS0LrE
Options :

Glaze

Sheet
2 % )

Dew

Bﬁa’nmﬁ}

Frost
4. &3

Question Number : 12 Question Id : 513474852 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s a non selective herbicide
) 05® Sey) 005N Jod I P JA PGS0 S Send) TEDE srirdn
Options :
2-4. D
1 ® 2‘4] (ﬁ

Imazethapyr
> % |aoadPo

Atrazine

3 % edrds

Gramoxone
Ta05
4.9 T

Question Number : 13 Question Id : 513474853 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which coordinated research project was started in India for the first time by ICAR
0% FrosBFos” JoyInGHT HobHwH JEBDD “Ddsead H0FES FBS W6?
Options :
1.4



' AICRP on Maize
Do) eTH) DI DOFEDH @rEf

AICRP on Sorghum

, x @) DinSgadh 30563 @Y

AICRP on Rice
36 HHoJeaH HOTES GBS
3. %

AICRP on Pearl mullet

4 x 9B OEgEH 055 @BE

Question Number : 14 Question Id : 513474854 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
The male sterility caused by nuclear genes in known as
Seadine’n) Bo@Esng'l adde Srednr Sy Hhha Sogdedn
Options :
CGMS
1. ® CGMS

CMS
2. % CMS

GMS
3.+ GMS

MS
4 % MS

Question Number : 15 Question Id : 513474855 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
The mutations produced by change in the base sequence of genes are
22 HO0N wodd EHhine' Srd) S0 0T eddSgSSnm
Options :
Point mutations

1@ ﬁmmﬁ:mgﬁs’nf{j



Chromosomal mutations
FarsS SupBad)

Chromosomal alterations
3 % Faresa agomden

Plasma gene mutations
4 % FTES S0g &)

Question Number : 16 Question Id : 513474856 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
The reduction of chromosome number to half occurs 1n
o) 0550 e Defese’ FarsSoe Homg HridnIH Shodacdkeod
Options :
Mitosis

Meiosis I
5 ¢ DEPDS-I

Meiosis 11

5w DESS-II

Prophase II
4% Fan-1II

Question Number : 17 Question Id : 513474857 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Which is the best amendment for alkaline soils
56 J00 HHcGins HOFrhod SJrabd dorgim 8
Options :
Gypsum

1.« Eﬂu];l)D

Elemental sulphur

> % Sores AoQS0



Lime
ff:aa’:g_o
3. ®

Pyrites
208
g, w IS

Question Number : 18 Question Id : 513474858 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Recommendation to mitigate the drought situation in crops
HoHOE" I8 JGED pFids Hardy) Baiusd
Options:
2% DAP spray

1¢ 2% B Bsh

2% Urea spray
5 o 2% ahrbdir Dus6

2% MOP spray
3. ¢ 2% JdDaw D50

2% SSP spray
4. % 2% B B D DT

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks
for this question if any of the correct options are chosen.

Question Number : 19 Question Id : 513474859 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
The C: N ratio of humus is
Dodad dmdo (TTgnd) @ng, 639, Hikad Dad
Options:
20:1
1. % 20:1

50:1
2. #® 50:1



100:1
100:1

4. &

Question Number : 20 Question Id : 513474860 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What are the micronutrient anions
rg)EFA8 ames edird
Options :
Fe. Mn. 7n
1 % Fe. Mn. Zn

Na. K. Ca
2 ® Na. K. Ca

B. Mo, C1
3. ¢ B, Mo. Cl

N.B S

4 % N.P.S

Question Number : 21 Question Id : 513474861 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A+B horizon is called as

A 580i0 B &rden BoSBD 0D Jiotrd
Options:

Regolith
1 % OBROS

Solum
2 . o F-j'[‘@ 5\}

Mluvial horizon

3 % RS



Eluwvial horizon
Jenda S

Question Number : 22 Question Id : 513474862 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Which type of soil develops deep cracks
s) 65d Jo B HbgH @D Fnod
Options :
Sandy soils
1. % =% Jo

Clay soils
2 « @08 o

Loamy soils

3 % foH Heen

Red soils

4 % P Jwen

Question Number : 23 Question Id : 513474863 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The capacity of the soil to produce crop 1s known as
DodH B8 T Jo FHoEA) JDI e@odrd
&
Options:
Soil fertility
1. % e ardsoss

So1l capacity
Jo Frdodso
W &

Soil productivity

3 ¥ o) = Loglnt:t

Soil strength
4 % Jo oo



Question Number : 24 Question Id
Correct Marks : 1 Wrong Marks : 0

The percentage of “P” mn SSP
By T T N ged0 TS0
Options :
16%
1.« 16%

23%
5 % 23%

12%

12%
3. %

11%
1%

Question Number : 25 Question Id
Correct Marks : 1 Wrong Marks : 0

: 513474864 Question Type : MCQ Option Shuffling : Yes

: 513474865 Question Type : MCQ Option Shuffling : Yes

Which of the following 1s not a halogen

fod o8s’ FFF'al 506

Options :

Fluorine
| % 205

Chlorine

2. % 803

Iodine

3 % es@r&o

Hydrogen
TE=S
4.+

Question Number : 26 Question Id
Correct Marks : 1 Wrong Marks : 0

: 513474866 Question Type : MCQ Option Shuffling : Yes



Which of the following 1s alkali metal
& Bod o8¢ g6 o
Options :
Sodium
1.« Shadho

Calcium
o % s§)aho

Magnesium

3 % Eof‘l;,;}cfn@

Barium

4 % Boa%o

Question Number : 27 Question Id : 513474867 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Dielectric constant of water

NBE@NE BedGwE 5'¢8 Q0708 Dend
Options :

80
1.v 80

40
2. % 40

20

60

Question Number : 28 Question Id : 513474868 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The bond formed as a result of strong electrostatic forces of attraction between a positively and
negatively charged species
D64 wRTm o 6irg ey HoB Biln aerl) JHokrd

Options :



Hydrogen bond
1 % TIEBS D0GSw

Tonic bond
v e CiTas DOoGan

2
Polar bond

3 % &b modsm
Covalent bond
Ho@realcd 2odsw

4.

Question Number : 29 Question Id : 513474869 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In the periodic table the elements of ITI A to VIII A group are called
&350 ééﬁ;s’-ﬁe IIT A wo& VIII A @D 365 o S0resos osobrd
Options:

f- block elements
1. % f- &8 Swresen

S-block elements
2 % S-zr§ daresten

p-block elements
3 « Pz Srose

d-block elements
4 % d-erf Surosen

Question Number : 30 Question Id : 513474870 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The number of gram equivalents of solute present in a litre of the solution is

2.8 Dbk Eimos €80 HF) Ehbo i Dhoggroe dog

Options :

Molality
1 x S0odd



Molarity
2 % Bwoerdd

Mole fraction

3 % drd erismn

Normality

4 a‘o‘-‘;e‘i)éﬁ

Question Number : 31 Question Id : 513474871 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The elements having extremely high electro negative are
2 Srosed’ JEnd Jog IEEIS sodxw
Options :

Non metals
1 % T 5D

Alkali metals
5 % 55 Saren

Halogens

S
3. v

Semuimetals
Do b
%®

Question Number : 32 Question Id : 513474872 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Repugnatonial glands are present in the msect order
T oz foguen SOAN fbre Fsmw

Options:
Lepidoptera

| % E'u:l(ff_f::%c}‘

Orthoptera

2 % @%h‘%g“



Hemiptera

3 el WO

Coleoptera

4 & SO&YPo

Question Number : 33 Question Id : 513474873 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Insects having ‘Alary Polymorphism’
“eoerf 3‘@&@&;}2&0” £ORS bsen
Options:
Hemiptera

1.4 WD T

Homoptera

2 T oy

Neuroptera
3 % O syo

Thysanoptera
4 % SdRT

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks
for this question if any of the correct options are chosen.

Question Number : 34 Question Id : 513474874 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Chemical compounds which are volatile at normal room temperatures are

(6 safiid 54 edHEahy Hmo SOAN Srobaren
Options:

Granules

Aerosols
> % E.‘Jﬂi‘ﬁ‘ﬁ;,



Wettable powders
& SHoden

Fumigants
g Dorod)
4 5 A

Question Number : 35 Question Id : 513474875 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Predation on silkworm cocoons 1s caused by
é&‘g@cﬁaﬁj rb*@&s’m @agoh 208
Options :

Dermestid beetle
Go)RE HB&
\./ [-4]

Uzifly

Pediculodies

DESSAVES
3. %

Coccinella
4. % SEIT

Question Number : 36 Question Id : 513474876 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Sex of worker bee 15

&rd 384 Bog, Ood Pé
Options :

Female
&

1.% ©

Sterile female
2. v 065 @

Sterile male

3 % ;’Joqig ES Te SN Tt



Male
G

Question Number : 37 Question Id : 513474877 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Abrasion of insect cuticle is caused by
Sbre 7886 ohaE hidhyo BawHd.
Options :
Drie-Die

1.4 @_E

Carbon dioxide
> % S“r:i;ﬁ G HE;J-E

Vapour heat
3 & 96 B

Flame thrower

w8 b

Question Number : 38 Question Id : 513474878 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Destructive insect and pest act was enforced in the vear
‘B85 af D @0k DY oirf IdBS dodd)do
Options :
1916
1. % 1916

1913
2. % 1913

1914
3. v 1914

1915
4 % 1915



Question Number : 39 Question Id
Correct Marks : 1 Wrong Marks : 0

: 513474879 Question Type : MCQ Option Shuffling : Yes

Example for neonicotinoid insecticide
ARrIEBrons §0ETINE emrdn

Options :
Acetamiprid

1.« estrdows

Monocrotophos

5 % ard e

Lambda cyhalothrin
3 % U0 PTS @D

Carbaryl
4 % lepteli)

Question Number : 40 Question Id

Correct Marks : 1 Wrong Marks : 0
Phytoplasma are sensitive towards

: 513474880 Question Type : MCQ Option Shuffling : Yes

-, 4 - u L. n -]
RO Pardo S drg) 45 T80 doge

Options :
Penicillin

| x DNOS

Aurcofungin
> % e0@rPono

Amphicillin
3 ® S0DD

Tetracycline

4 o DEDES

Question Number : 41 Question Id
Correct Marks : 1 Wrong Marks : 0

: 513474881 Question Type : MCQ Option Shuffling : Yes



Chemicals that stimulate acquired resistance in plants when sprayed are
o) GarohTren HAS0 BVIYD TP oS’ HECGYE 2hpIHo sBuIHaon
Options :
Sulphates
1% Sy

Nitrates
2. x 288

Chlorides
o0&
3. % N

Carbonates
4. 50RE)

Question Number : 42 Question Id : 513474882 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Example for seed borne pathogen
&S0 orgor argey Dod BHogdm

Options :

Ustilago nuda tritici

1 awder S (o

Puccinia graminis fritici
5 % SE DAt (TDT (BED

Fusarium oxysporum

3 % JpEoabo ed)d¥)do

Taphrina deformans
4 % e )T

Question Number : 43 Question Id : 513474883 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Fungicide belonging to Acyl-alanine group
‘o6 eods o8 Bodd Do Ed

Options :



Propiconazole
1 #% &OEIES

Metalaxyl
2 dterdd

Tricyelozole

3 ® @?—_} ﬁa’lﬁﬁ

Mancozeb

4 % Sreosed

Question Number : 44 Question Id
Correct Marks : 1 Wrong Marks : 0

: 513474884 Question Type : MCQ Option Shuffling : Yes

Being a rich source of oil and protein this crop is called as wonder crop
SR b0k Srods)dhe H @odHod & Hobin Jokb Hod wolrd

Options:
Chickpea
1 % Dayy) 56

Horse gram

Soya bean
3. DFOSrDSy @

Field bean
4% zﬂ&a&m

Question Number : 45 Question Id
Correct Marks : 1 Wrong Marks : 0

Pulses are rich in

: 513474885 Question Type : MCQ Option Shuffling : Yes

D) FTRgod JEyS o Fasen Horon

Options :
Ca&P
1.+ Ca&P



#
|#_-,..| |;.;..|
— =
=

(")

r

K
4. % K

Question Number : 46 Question Id : 513474886 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0
The queen of cereals 15
& Bod ardd’ ) Hobd SnFare rHr DL
Options :
Paddy
1. ® T3l

Jowar

BTI-(
x Heg

2

Maize

g,
3. ¢ :

Wheat
4. % TG

Question Number : 47 Question Id : 513474887 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0

Germinated seed of chickpea are used to cure the following disease
F56 Do), IvwsED Voo & God ophHd Joho Vb

Options:
Beri ben
1 % 20 2o

Scurvy
> v %08



Rickets

3 % 5@5&

Night blindness
4 % OwEd

Question Number : 48 Question Id : 513474888 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Common parasitic weed in sorghum
S Fdmor 3B Hor B fondy o, DB
Options :
Loranthus
1 % Soosh

Orobanche
2 % 2,0eT08

Striga
3. v &7

Cuscuta

4 % é@“&é}

Question Number : 49 Question Id : 513474889 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Finger millet grain is nutritionally rich in
oThes’ o) Fasen sy S sodron
Options :

Iron

Magnesium

5 % DoM)HaASHI

Zine
3. @ EEC‘E



Caleium

4 S’EE'IO'.S}G

Question Number : 50 Question Id : 513474890 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which crop 1s known as poor man’s pulse crop
HETD @H0® HOLT DENSDG @WHTED
Options :
Horse gram
1. LD

Green gram
2 % Dol

Red gram
3. % S0b

Black gram
4. % B A a0 e

Question Number : 51 Question Id : 513474891 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which the following is a concentrated organic manure
& Bod o8S mg hodoh D
Options :
Biogas slurry
1 % DETED

FYM
HBHHO IHDH

Bone meal

Vermicompost
56 150 E-j‘:'f:g



Question Number : 52 Question Id : 513474892 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The starter used in rural compost

robes Soaky SairE’ S8 HEchHH HODoHOS TE HTGo

& &
Options :
Night soil

1 % 7D Ddgaen

Dung
2. DG

Lime
f0aN O
3. % =

Bone meal

4 % oJdmio £&

Question Number : 53 Question Id : 513474893 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The green manure crop possessing fibre. fodder and green manure value

DHHO D DB TET SIDPEHE HYEE Dob
Options :

Dhaincha
1 ® E§ PJJﬁ

Indigo

5w VDD

Sunn hemp

3 & s%mmm

Pillipesara
LEDDHE
4% "



Question Number : 54 Question Id
Correct Marks : 1 Wrong Marks : 0

An example for neutral N-fertilizer
Sbgom HoG Hidad JhD
Options :

Ammonium sulphate
- wdr)daho HB)S

Calcium ammoninm nitrate

sHaho eardaho JBE
2. = -

Ammonium chlonide
@5:5"3'3}0&9 E‘EE;,
%® e

Sodium nitrate
4 % SE&as0o E@r‘f

Question Number : 55 Question Id
Correct Marks : 1 Wrong Marks : 0

: 513474894 Question Type : MCQ Option Shuffling : Yes

: 513474895 Question Type : MCQ Option Shuffling : Yes

Upward curling mn chillies 15 caused due to

oD P Inched enhEain §&do

Options :
Mites
1. % 29

Aphids
> % 220E

Thrips
3 ¢ 00 apdoroen

White flies

ELoTasy

Question Number : 56 Question Id
Correct Marks : 1 Wrong Marks : 0

: 513474896 Question Type : MCQ Option Shuffling : Yes



Pheromone lure used to attract red palm weewvil
Tabes’ JBansy Db ©580d Hormrsds 6
Options :
Litlure
1. % O8 orgb

Ferrolure
5. @ PEorgh

Rhinolure
35 orgb

Helilure
4. % O orgd

Question Number : 57 Question Id : 513474897 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The storage pest that attacks internally and causes severe damage to paddy seeds

fiozz D0 408 Dexd® 58 gl sloh Hibe

Options:

Pulse beetle
1. & edTe PHbD

Red flour beetle

5 % DoB DN

' Lesser grain borer
3  DOOT 2566 (F0% D)

Saw toothed grain beetle
4 % GODY D HOOH

Question Number : 58 Question Id : 513474898 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
The bacterial gene introduced into Bt cotton — Bollgaurd
SErE-08 P& HIFDEH2ES TE60HE =Y
= [-5} L]
Options :
1.4



CRY -1AC
E-1%

CRY-TI-C
2. % B2®

CRY -1II-B
, % B30

CRY- IV-Ab
4 % E-4-20

Question Number : 59 Question Id : 513474899 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Trap crop used to attract Spedoptera litura

a?jc??.é]}ci LAV Hégm:’)a 20
Options:

Mustard
1. % esaen

Mary gold
2. #® 20

Napier
3 % Iow6

Castor

Question Number : 60 Question Id : 513474900 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Fumigant used mn godown for the management of storage pests
Rosnos® Doy Fragod sdodh Phihod @bSQENE o6 dFrabdo
Options :
Zine Phosphide
%@E %L;J

2. ¢



Aluminium Phosphide
sergddoio o p)éE

Barium Phosphide

3 % ZBa%o TR)E

Magnesium Phosphide
“ iy ncho P)E

Question Number : 61 Question Id : 513474901 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Chemical used for the management of mites
38 Daréss ¢H@rhodh Sarahdo
Options:
Sulphur
1. 5’:&&3;)5

Monocroptophos

, % FEEDE

Cafbc-furon

3 % ST S

Spinosad

4w D)6

Question Number : 62 Question Id : 513474902 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The insect pest of cruciferous crops that developed resistance to many insecticides
BT dobed edowd Hohbos Hobd Dok IFGES HodBothEHD) b
Options :

Corcyra cephalonica
1. 8% FO)T DHSOF

Plutella xylostelia
5 o Q) dier @eﬁ"’@eﬁ:l:



Hellula undalis

ATELCE 0 N
3. % 2

Thrips tabaci
4, % B) Gard

Question Number : 63 Question Id : 513474903 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

How much water pressure is required to operate sprinkler system?

|P)058 i AGsrodENs @DHo0ahs 08 288 Jod

Options :

> 1.5 kg/em?
> 1.5 kg/em’

LV

1. %

>3.5 kg/em?

2 % >3.5kg/cm’

>2.5 kg/em?
i = 2
>2.5 kg/em-”
3.v¥
= &5 kE I
2.5kg/em
- 2
< 2.5 kg/cm”
4, ®

Question Number : 64 Question Id : 513474904 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
A round wheel 1s equipped with curved blades or vanes 1s called
2.8 HoEd IESNHS S0 HBA ) BE) ©Dd) Sokitrdy DS o6
Options :
Bearings

1% Eﬂﬁoﬁr}

Couplings
2 % S®ol)

Impeller

3 RO .mgﬁ



Casing

4 % gooh

Question Number : 65 Question Id : 513474905 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
What 1s the basic criteria of surveying in Trignometric survey
BFndosh H0e’ ird@ns, o ofnsn egrdor G0t BaHnckd
Options :
Height

1 % 9K

Slope

5> % o}%m

Curve
3 el

Length

4 % TG

Question Number : 66 Question Id : 513474906 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Type of green house used when roof slope of green house is less than 6 meters?
OSSR Sdparen et DG $08 S5 5T &) IPE SHRTNOD HRSTH E85m

Options :

Wooden framed greenhouse
1.« Sodbged dbd G5 7R

Iron framed greenhouse
5w BHZNS TS BS B

Pipe framed greenhouse
3 % PO BSOS T7O

Truss framed greenhouse

) % ©58 D8 BS &5



Question Number : 67 Question Id : 513474907 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The percentage of carbon dioxide in the atmosphere 1s
TEH0206° FIDHen Taing TEo
Options :

0.0035 %
1 % 0.0035%

0.00035 %
> # 0.00035 %

0.035 %
3 o 0.035%

035 %
4 % 035%

Question Number : 68 Question Id : 513474908 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which type of greenhouse is suitable for construction in hilly areas
Fod @rodames’ Ih)odw Nl ehirods (S FTH 550 J6?
Options :
Lean to type

1 g D% or 3D

Even span type

, % 353385

Ridge and furrow type
3 % 08 Docin HE BD

Uneven span type
4 @ ©5 H5 ;S 85

Question Number : 69 Question Id : 513474909 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0

The preliminary inspection of the area to be surveyed 1s known as
H0e DADSOBI @rogo @ ErEE SIHI DHoird?
Options :
Economic survey
1 % ©05 50

Route survey

alssanc Y
Reconnaissance survey
3 MY Fﬁfﬁng

Primary survey
4 % @GS 50g

Question Number : 70 Question Id : 513474910 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In surveying the longest of the chain lines 1s known as
Feonchde $5@rA0D o8 SEdS Food I dSotrtkh?
Options :

Base line

Check line
, D585

2
Tie line
3 % 889

Sub line

Question Number : 71 Question Id : 513474911 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Turmeric rhizome rot 1s caused by
D0DS” oD Hel Srhen i@ oo

Options :



Pythium aphanidermatum
1. & Soabo Eﬂ#ﬂa}ﬁgé&@

Fusarium oxysporum
5 % SyFoabo efdHoD

Diplodia natalensis

5 x B&bav 5085

Sclerotinia sclevotiarum
4 % QOBIatr & chatrdo

Question Number : 72 Question Id : 513474912 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which management option 1s recommended for chilli damping off
oHes* TOo5el) airesararg)s o) S'ch@ STalon VTl

Options :

Use of high dose of nitrogen

| % 515300 @hHE Iraths’ TEdo

Providing over irrigation

5 % 5, S D emohodio

Sowing nurseries on raised beds
3. v DBS TONES Dddo

Raising nurseries in black soils
,, DoSHE Jod Fhdden Johdo

Question Number : 73 Question Id : 513474913 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Citrus trees that blossoms heavily and dies before fruit maturity 1s the characteristic symptom
of
) B’ Jrd JEy S rh Tob F4% oEinod SASGE0 o) Bihen @ng) oo
Options :
Canker



Tristeza

. u R

Die back
B2 ook 3bhen
% &

Phytophthora Gummosis

. o 208 Bhew

Question Number : 74 Question Id : 513474914 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Downy mildew in Bajra 1s caused by
s are SHod SaiEdn 8dogo
Options:
Perenospora sorghi

1% z:aﬁ'}aj;m@@

Pseudoperenospora cubensis
5 % AP DI or Sp NS

Seclerospora graminicola
3 ¥ 3 0o IS

Plasmopara viticola
4% o b5

Question Number : 75 Question Id : 513474915 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Rice Tungro disease 1s transnutted by
306" T002 Gorb &% Bben o o oo T§h Bomod
Options:
Green leaf hoppers
1 @ HBDH HwH



Whitefly
Bod'5

Aphids
3 % D30n0E

Thrips

4 % #&a0d oo

Question Number : 76 Question Id : 513474916 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Which disease of Redgram is predominantly observed in seedling stages
So0¢ Swpgor P& Tng) o efod 3hen
Options:
Phytophthora blight

| @ 2E T Jocy Brben

Sterility Mosaic
5 % Sogigee JoaronE

Fusarium wilt
3 % SEe Bibe

Powdery mildew

4 % arbd Shen

Question Number : 77 Question Id : 513474917 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Bajra seeds affected with sugary disease are socked 1n 10% salt solution to remove

& o0 IS BAD Sofodd FOE 20% Bhen 8 08 J8T0D 10% adp THe0 Jod TIHEED
Options :

Galls
1. % Seashen

Conidia
5 % o6 Deren



Sclerotia
o, hasren
‘;?

Broken seeds
4. % 2085 Aoeen

Question Number : 78 Question Id : 513474918 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Central shoot 1s converted into long dusty black whip like structure in sugarcane 1s due to
e Hobd’ ) Tb Sod e FEIS FiEe I8 Irdheon

Options:
Red rot
1 % DSt Biben

Smut
2. & TEDE Sibhen

Grassy shoot

3 % ﬁ% ey Biben

Stem rot
4. % 5060 Shen

Question Number : 79 Question Id : 513474919 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The reddening of leaves i cotton 1s due to deficiency of

@8 sfhond o) Do 3 Do JoI Sod

Options:

Magnesium

Calcium
2. ® 5“@}0330

Sulphur
3 % Ll



Zinc
205

Question Number : 80 Question Id : 513474920 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The king of fibre crops which is also known as white gold 1s
T Doveo oorer Hoan HAD 38 K'Y e SrE ok
Options :

Tobacco
1. % ﬁ‘f‘l‘é&l

Sugarcane
2 % 2DhE

Cotton

L o 08

Linseed

NG
g%

Question Number : 81 Question Id : 513474921 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Aflatoxin problem in groundnut 1s mainly due to
Jasne’ @dSHra)T SHIH HFIDS FOH0 IO
Options :
Improper weed control
1 % DO SenyATde DabsSFSdo

Improper drying
5 PO Jod BYSFSEo

Improper pest control

alolyy DGO DTdosESFSG0
3. %

Improper wurigation
4 % DO B DYIFSE0



Question Number : 82 Question Id : 513474922 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Coastal areas to prevent lodging in sugarcane the best method of planting 1s
S0grosos’ BEH Do HBFH0E IFHOSEIE MH ) HEES BEHH TENESDH
Options :

Trench method

1. ¢ Sodiso éc{g@

Flatbed method

, % LEBE 5B

Distant planting method

3 x DO76 TB 558

Tje block method

il oy
4. % 333;3;5 o}cga

Question Number : 83 Question Id : 513474923 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The tag colour of breeder seed 1s
PBH55HD L5 HBodD HS Soib
Options :

Golden yellow
1. ¢ 20O arda))

Azure blue
2 % ®z5 Jodn

Purple
3 % St
Pk

433?33@?

Question Number : 84 Question Id : 513474924 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Removal of tassel in hybrid seed production of maize 1s known as
g T S Hoifise DSTHES Hif JEneH SHTErD) JHD wotrd.

Options :
Nipping

1. % K}E}JDE
Tasselling

) % treadoh
Detasselling

3. ¥ Béreadofl
Selfing
wanoh

4, %

Question Number : 85 Question Id : 513474925 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

How many sections are there in seeds act. 1966
DESH S&o, 1966S° ) DET) S0IH
Options :

10
1.3316

15
2. ® 15

20

25
4w 25

Question Number : 86 Question Id : 513474926 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following equipment 1s used for upgrading the quality of seed
& Bod HbSred D45 NEohd $I@rhod choEsmn

Options :



Scalper
1. % BV

Debearder
, w &6

Gravity separator
3 @ o8 Hadkb

Maize sheller

4 % awg &) awd

Question Number : 87 Question Id : 513474927 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In which stage of production function, TPP and APP mcreases

a8 HOoS'D ) §FS’ Bngo HOAD Kty EHBS® DHDEL Botwod
Options :

Stage I
1. o SNGE &

Stage II

> % Dok OF

Stage III
3 % SwES &F

Stage II & III
4 % DoGS NBoin Srred OF

Question Number : 88 Question Id : 513474928 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0
The additional costs mcurred for producing an additional unit of output 1s

wdIom a8 ahrdEd) add DaHEIE edhy e6sy Sjo5rd) Jotrdd?
Options:

Fixed cost
1. % dgo 55080



Marginal cost

Sarod Sgoho
2.

Variable cost

3 % 4] a&gcﬂ}o

Average cost

. ofitn dgaho
4.

Question Number : 89 Question Id : 513474929 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

NABARD was established in which Five Year Plan (FYP)?
o) DOBSE PWerPES” T Thod 2EIG
Options:
Second FYP
1. % BOGS DOTSY |DeTPS

Fouwrth FYP

5 % TOD DOBSE (WDETPE

' Sixth FYP
3 wﬁé.ﬁ DOTIDG |@WeT S

Eighth FYP
4w DODE BOSSE P S

Question Number : 90 Question Id : 513474930 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who was the chairman of *All India Rural Credit Survey Commuttee™ (AIRCSC)
e rdd Tibe 20T c’oft-s gand (AIRCSC) BE)RT HpSTB0DH T

Options :

A.D.Gorwala
1 & ol ia- ﬁ“o‘g@

B. Venkatappaiah

5 % £. Dosérayolog



Mohan Kanda
3. & droaoa Sol

D. R. Gadgil

4. % &.66. mad

Question Number : 91 Question Id : 513474931 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The criteria used to classify assets as current assets, intermediate assets and long term assets is
ot o A vl Cigar & v = & i, x . I'-\I
BROD DS, HFFY Sban Yoo éggﬁoéa"m &H@EPN0D Pars0 BT

Options :
Solvency

1 % TSR

Liquidity
> E}Esé’afﬁ

o i

Profitability
A
3. %

Credibility
4% E&HOS

Question Number : 92 Question Id : 513474932 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The agreement between the employer and employee to keep the research information

confidential 1s
DTG SSrerd Hopds obasrd SHBak e6NE SHd; 268 2080 JhS

Options :

Patent
1. % 2Bod

Trade mark
> % Bl 376

3.v¥



Trade secret
BE HDES

Trade symbol

4 % E@BE& hoad

Question Number : 93 Question Id : 513474933 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A market with only two sellers for a commodity 15

& 1800 o) 5786 & ewdniomd) R wokrd
Options :

Monopoly
1. % 2§ Tresogo

Duopoly
5 BFrgago

Oligopoly

3 % w80 Dredgo

Perfect competition

4 % S0 8

Question Number : 94 Question Id : 513474934 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The cylindrical part closed at one end which maimtaims a close shiding fit i the engine cylinder

15
2.8 D303 Srddohalds drarsd grisnd DAHos oen HPoEd Sod e erdsn J0.
Options :

Cylinder

Piston

, o D88

Skart

511}
3 % ra



Crank case
4 % 50§ 85

Question Number : 95 Question Id : 513474935 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Indicated horse power for two stroke engine is caleulated by
0ocd iFF moad o Ardodabs mdsd 40 (IHP) 88 o0 dmgo.

Options :
PLAN

4500
PLAN

xn
1.+ 4500

2. % 4500N

4 % 4500

Question Number : 96 Question Id : 513474936 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The device in which air — fuel mixture takes place 1s
md - 20658 Fno adhdd D0sd0.
Options:

Fuel tank
1. % BOQD &rpos

Lift pump
, % OF 30D

Bowl
3 % Ta



Carburetor

4 Fﬁ)&ﬁéﬁﬁ

Question Number : 97 Question Id : 513474937 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
30-35 hp tractor 1s suitable for an urngated land of
30-35 o @Pﬂéﬁ .;m;; g P 2ang esSasreo.
Options:
10 ha
1. % 10 =7

20 ha

2 % 20 =7

30 ha
3. % 30 %7

40 ha

40 =7
4, &

Question Number : 98 Question Id : 513474938 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The plough where soil inversion takes place 1s

B 005 BD) THO D6?
Options :

Country plough
1. % OIT® Fid

Mouldboard plough

5 @ STEHG 010

Dise plough

Chisel plough
4. ® QS T



Question Number : 99 Question Id : 513474939 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

An mimplement used for churning the soil in standing water 1s

Aok &3) 88" HPI FoiFIE SI@TH0DT DHVD50.

Options:

Mould board plough

Disc plough

2 % éf}\:} Thd

Chisel plough
3 % 085 THO

Pudler

4 o 948

Question Number : 100 Question Id : 513474940 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The common spray angle in even flat fan spray nozzle 1s
33 ard oS TASS arpede (B droid.

Options :
50-60°
1 % 50-60°

| 60-70°
2. % 60-70°

70-80°

3 % 70-80°

80-950°
4 « 80-95°

Question Number : 101 Question Id : 513474941 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Thin layer drying refers to a depth of
DM FOS JoEBYLYEIE TTE D).



Options :

10 em
1. % 10 0.20.

20 em
2 20 =o.Mo.

30 ecm
3 23 3':' _Z?O.ﬁb.

40 em
40 2o.20.
%

Question Number : 102 Question Id : 513474942 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Consumption of following fruits prevents scurvy disease and tooth decay
& §0d T8 ) Dog B5Lo JoH b HocH VWY THHY VaTBodS .
Options :

Mango

Amla
2.« &b

Almond
3 % ENRATS)

Grapes
4. % &8

Question Number : 103 Question Id : 513474943 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The best sucker for banana propagation 1s
& 800 T8¢° Jorod Do TEr B PSGIo FY Do

Options :

Water sucker
1. % D8 Hedfen

2.



Sword sucker
ard Defen

Rhizome
3 % @05 hodew

Aenal sucker
4 % ™ Segen

Question Number : 104 Question Id : 513474944 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The centre of origin of pomegranate 1s

@& enDods Béo Jb.

Options:

India
1. % s B¥o

Iraq
2. % mo§

Iran
3. v Lot

South America
4. % GEe enoF

Question Number : 105 Question Id : 513474945 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Dehorning 1s practiced in

“BamEFH” airesrdy HE8 2 Hoke® FdoTd.
Options :

Papaya

Apple
2. % [Thel]

Grapes
3. % O



(Guava
4. B

Question Number : 106 Question Id : 513474946 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Green coloured variety of brinjal 1s
w5 58 Sof 50 J0.
Options:
Arka Shirish
1. & ©TY 863

Pusa Hybnd - 5
2. % I T @&-5

Pusa Purple Long

3 % e ?’.3{5}3,6 erof

Arka Navneet
4. % ©0Y 5508

Question Number : 107 Question Id : 513474947 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Botanical name of Ben oil tree 1s
B35 sond By e TAD Deoakd.

Options :

Moringa oleifera

1. dudor adpd

Murraya koenigi
> % Svdolr SovdA

Beta vulgaris

3 % Eils) S0

Colocasia esculenta

4 % ForZfair ‘“J‘&?J- Fod



Question Number : 108 Question Id : 513474948 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Browning in cauliflower is due to the deficiency of

-

“FDHI0 FROA o) ) TP FHo Jod Snob.

Options :

Nitrogen
| % 3D

Calcium
2 % sHaobo

Boron

Molybdenum
4 % SPDDI0

Question Number : 109 Question Id : 513474949 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The seed rate (kg/ha) for onion is
&8 DES Trech (32/7) Jod?

Options :

3
1. % 5

10
2.4 10

15

3.%

20
. 20

Question Number : 110 Question Id : 513474950 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

An example for saprophytic orchud 1s

&S00S T RG5 &0 & D Mmiosok

Options :



Vanda
1. # Joa

Dendrobium
ZoEHoho

Cymbidium
odbaho

Listera

a.v 937

Question Number : 111 Question Id : 513474951 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Calyx splitting and Slab shide are seen 1n

2 Dok’ sOF) HBof o0 T RE ASHVOSIIN
Options :

Gerbera
1. % Eﬁ:p‘-

Carnation

> 5“61.;'35

Rose

Marigold
4. % 2063

Question Number : 112 Question Id : 513474952 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Withaterine and Sommniferine are extracted from
& fod ode’ G0 Dok VoS odain &0 20T O om.
Options :

Isabgol



Perrwinkle
DLy (13

Ashwaganda
3 @%Eﬁoe:ﬁ

Ocunum
e
4. %

Question Number : 113 Question Id : 513474953 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The best time for pruning in Jasmine is during
HPS* Fi0)5400HoH ©IPS FOO0 IO

Options:

June-July
1. % o - &0

December - January

2 & &oad - 2530

March — April

3 % S0 - ;:1[;')5

May - June

4.%:‘3)-33“5

Question Number : 114 Question Id : 513474954 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0

Agricultural Extension is the example of which type of education
SpSerad D9 Sod TS o) G505 DGR Gorrde

Options:

Formal Education
| % DS D

Informal Education

5 % ©I00é D

3.¢



Non-formal education
raoswe’ (Bor) Sgdarah grdned’ Do Dog

Adult Education
4. % HETR D]

Question Number : 115 Question Id : 513474955 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Sociometry 1s the method of selection of following type of leaders
Fadrd@ ogo 6 8od TohHos JinSotrd
Options:
Professional leaders
1. % D)EDIDY Tohoe

Political leaders
> % omich Tabihen

Lay leaders
D2 BOGAHY FTaHen

\"{2

Scientific leaders
4 % TRobh Tohien

Question Number : 116 Question Id : 513474956 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Mandal system was recommended by the following committee
0GY DFIIN nErcn Dhd hd
Options:
Ashok Mehta
1.« ®©F5 e

Balwantrai Mehta
2 ® ecmg@étr‘oﬁ: e

S.K. Dey

3 % O3 G



Mahatma Gandhi

4% ') mobh

Question Number : 117 Question Id : 513474957 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Who 1s supreme in Democracy
Rerargod” JIMm drs) dRdTmH
Options :
Home
1.% 9

Village
2 . ® ﬁ‘;a{j}

Community
3 % Saorgad

Individual
4.¢ 98

Question Number : 118 Question Id : 513474958 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What 1s “M" stands for “ATMA”
“ATMA” & M &0 o8

Options :

Management

Mowvement

5 % NPD00E

Meeting
3 % sh&of

Municipalities

SOIDFOES
4, %



Question Number : 119 Question Id : 513474959 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
The concept of extension educational process 1s given by
DH e Dedy DD EHSn 08 FAI0D DD PIE DeT.
Options:
S.K.Dey
1. % O93.@

Dr.J.Paul Leagans

) @ @ 2.aro é)rﬁ:lj

Dr.Spencer

3 % = ”a&é;,ﬁ

F.L.Brayne
4 % . 6. @O

Question Number : 120 Question Id : 513474960 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Identify the example for mass contact method from the following
god orde’ ardrers HophoRe HPEE aTrrded Mmiodok
Options:
Personal letters
| % SBSDS e

Office calls
5 % WD 56

Lectures
3 % DT EReD

Leaflets

v mEdLT sharen
4. ¥





